BID NUMBER - PURCH 2016-108 DRAINAGE PIPE, BANDS, FLANGED END SECTIONS, AND FITTINGS

Due Date/Time: Thursday, March 3, 2016 by 2:30 p.m. (Eastern Time), County Services Plaza, 150 Main Street, Suite 102, Prince Frederick, MD 20678

	BID TABULATION													
П								I. P	ipe					
ı			HDPE (Type S) Plastic Drainage Pipe (20 LF Sections)											
П	Bidder	Location	12" 15" 18" 24"											
П		2000.00		Est.			Est.			Est.			Est.	_
П			Unit Price Qty Total Unit Price Qty Total Unit Price Qty Total Unit Price Qty Total								Total			
Н			(LF) (LF) (LF)								10.000.00			
1	Belair Road Supply Co., Inc.	Baltimore, MD 21237	\$4.04	400	\$1,616.00	\$5.70	400	\$2,280.00	\$7.14	400	\$2,856.00	\$11.51	200	\$2,302.00
2	Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$4.894	400	\$1,957.60	\$6.578	400	\$2,631.20	\$8.315	400	\$3,326.00	\$13.157	200	\$2,631.40
3	Hajoca Corporation	Richmond, VA 23224	\$4.95 400 \$1,980.00 \$6.65 400 \$2,660.00 \$8.40 400 \$3,360.00 \$13.30 200 \$2,660.00							\$2,660.00				
4	Lane Enterprises, Inc.	Bealeton, VA 22712	\$5.11 400 \$2,044.00 \$6.87 400 \$2,748.00 \$8.69 400 \$3,476.00 \$13.75 200 \$2,750.00											
5	HD Supply	Waldorf, MD 20601	Did Not Bid On All Items											

BID TABULATION (continued)															
			Pipe (continued)												
		16 Gauge Aluminized Steel (Type 2) Corrugated Pipe (20 LF Sections)													
Bidder Location		9"x14	" ALT	2 CMP	13"x17	7" ALT	2 CMP	15"x 21" ALT2 cmp							
		Unit Price	Est. Qty (LF)	Total	Unit Price	Est. Qty (LF)	Total	Unit Price	Est. Qty (LF)	Total					
1 Belair Road Supply Co., Inc.	Baltimore, MD 21237	\$9.25	400	\$3,700.00	\$11.41	200	\$2,282.00	\$13.50	200	\$2,700.00					
2 Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$8.947	400	\$3,578.80	\$11.052	200	\$2,210.40	\$13.052	200	\$2,610.40					
3 Hajoca Corporation	Richmond, VA 23224	\$9.04	400	\$3,616.00	\$11.17	200	\$2,234.00	\$13.19	200	\$2,638.00					
4 Lane Enterprises, Inc.	Bealeton, VA 22712	\$9.35	400	\$3,740.00	\$11.55	200	\$2,310.00	\$13.64	200	\$2,728.00					
5 HD Supply	Waldorf, MD 20601				Did Not E	Bid on A	All Items								

В	ID TABULATION (Continued)													
Г			II. Fittings											
П						HDPE (T	ype S) Plastic Dra	ainage Pipe	Tee S	ections			
П	Bidder	Location		12"			15"			18"			24"	
ı	Biddei	25034511		Est.			Est.		Maria Bailan	Est.	Total	II-ih D-ina	Est.	Total
			Unit Price	Qty (Ea)	Total	Unit Price	Qty (Ea)		Unit Price	Qty (Ea)	Total	Unit Price	Qty (Ea)	Total
1	Belair Road Supply Co., Inc.	Baltimore, MD 21237	\$79.30	5	\$396.50	\$118.50	5	\$592.50	\$166.23	5	\$831.15	\$257.00	5	\$1,285.00
2	Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$78.94	5	\$394.70	\$100.00	5	\$500.00	\$131.58	5	\$657 . 90	\$200.00	5	\$1,000.00
3	Hajoca Corporation	Richmond, VA 23224	\$79.79	5	\$398.95	\$101.06	5	\$505.30	\$132.98	5	\$664.90	\$202.13	5	\$1,010.65
4	Lane Enterprises, Inc.	Bealeton, VA 22712	\$82.50	5	\$412.50	\$104.50	5	\$522.50	\$137.50	5	\$687.50	\$209.00	5	\$1,045.00
5	HD Supply	Waldorf, MD 20601	Did Not Bid On All Items											

В	ID TABULATION (Continued)													
Г			II. Fittings	(conti	nued)									
ı						HDPE (Typ	e S) P	lastic Drain	age Pipe 45	Degi	ree Bends			
ı	Bidder	Location		12"			15"			18"			24"	
l	2.00.5 .		Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
L				(Ea)			(Ea)			(Ea)			(Ea)	
1	Belair Road Supply Co., Inc.	Baltimore, MD 21237	\$47.00	5	\$235.00	\$65.00	5	\$325.00	\$86.50	5	\$432.50	\$176.00	5	\$880.00
2	Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$ 44 .21	5	\$221.05	\$63.16	5	\$315.80	\$78.95	5	\$394.75	\$157.89	5	\$789.45
3	Hajoca Corporation	Richmond, VA 23224	\$44.68	5	\$223.40	\$63.83	5	\$319.15	\$79. 79	5	\$398.95	\$159.57	5	\$797.85
4	Lane Enterprises, Inc.	Bealeton, VA 22712	\$46.20	5	\$231.00	\$66.00	5	\$330.00	\$82.50	5	\$412.50	\$165.00	5	\$825.00
5	HD Supply	Waldorf, MD 20601	Did Not Bid On All Items											

B	ID TABULATION (Continued)				_	_								_
Γ			II. Fittings (continued)											
П						HDPE (Typ	pe S) F	Plastic Drain	nage Pipe 90) Deg	ree Bends			
١	Bidder	Location		12" 15" 18" 24"										
ı				Est.			Est.			Est.			Est.	
			Unit Price Qty Total Unit Price Qty Total Unit Price Qty Total Unit Price Qty Total (Ea)								Total			
1	Belair Road Supply Co., Inc.	Baltimore, MD 21237	\$54.00 5 \$270.00 \$75.00 5 \$375.00 \$105.00 5 \$525.00 \$207.00 5 \$1,03							\$1,035.00				
2	Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$57.89	5	\$289 <mark>.45</mark>	\$78.95	5	\$394.75	\$115.79	5	\$578.95	\$163.16	5	\$815.80
3	Hajoca Corporation	Richmond, VA 23224	\$58.51	5	\$292.55	\$79.79	5	\$398.95	\$117.02	5	\$585.10	\$164.89	5	\$824.45
4	Lane Enterprises, Inc.	Bealeton, VA 22712	\$60.50	5	\$302.50	\$82.50	5	\$412.50	\$121.00	5	\$605.00	\$170.50	5	\$852.50
5	HD Supply	Waldorf, MD 20601	Did Not Bid On All Items											

В	ID TABULATION (Continued)													
Г								III. Bands	/Couplers					
ш						HDPE (Typ	e S) P	lastic Drain	age Pipe Ba	nds (Couplers)			
ı	Bidder	Location	12" 15" 18" 24"											
l	5.555			Est.			Est.			Est.			Est.	
			Unit Price	Qty (Ea)	Total	Unit Price	Qty (Ea)	Total	Unit Price	Qty (Ea)		Unit Price	Qty (Ea)	Total
1	Belair Road Supply Co, Inc.	Baltimore, MD 21237	\$6.05	10	\$60.50	\$10.00	10	\$100.00	\$17.50	10	\$175.00	\$24.25	10	\$242.50
2	Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$6.32	10	\$63.20	\$7.89	10	\$78.90	\$11.32	10	\$113.20	\$18.95	10	\$189.50
3	Hajoca Corporation	Richmond, VA 23224	\$6.38	10	\$63.80	\$7.98	10	\$79.80	\$11.44	10	\$114.40	\$19.15	10	\$191.50
4	Lane Enterprises, Inc.	Bealeton, VA 22712	\$6.60	10	\$66.00	\$8.25	10	\$82.50	\$11.82	10	\$118.20	\$19.80	10	\$198.00
5	HD Supply	Waldorf, MD 20601						Did Not Bid (On All Items					

B	ID TABULATION (Continued)												
Γ			III. Bands/	Coupl	ers (continu	ied)							
			1	.6 Gau	ge Aluminiz	ed Steel (Ty	/pe 2)	Corrugated	Bands (Co	uplers)			
	Bidder Location		9"x14" CM	IP Ban	d/Coupler	13"x 17" CMP Band/Coupler 15"x 21" CMP Band/Cou							
	Didde.		Unit Price	Est. Qty (Ea)	Total	Unit Price	Est. Qty (Ea)	Total	Unit Price	Est. Qty (Ea)	Total		
1	Belair Road Supply Co., Inc.	Baltimore, MD 21237	\$9.25	20	\$185.00	\$11.50	10	\$115.00	\$13.60	10	\$136.00		
2	Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$8.95	20	\$179.00	\$11.06	10	\$110.60	\$13.06	10	\$130.60		
3	Hajoca Corporation	Richmond, VA 23224	\$9.04	20	\$180.80	\$11.17	10	\$111.70	\$13.19	10	\$131.90		
4	Lane Enterprises, Inc.	Bealeton, VA 22712	\$9.35	20	\$187.00	\$11.55	10	\$115.50	\$13.64	10	\$136.40		
5	HD Supply	Waldorf, MD 20601				Did Not E	Bid on A	All Items					

B	ID TABULATION (Continued)													
Г							1/	/. Flanged E	nd Sections	;	_			
ı			HDPE (Type S) Plastic Drainage Pipe Flanged End Sections											
L	Bidder	Location	12" 15" 18" 24"											
L	D. 100 C.			Est.			Est.			Est.			Est.	
L			Unit Price	Qty (Ea)	Total	Unit Price	Qty (Ea)	Total	Unit Price	Qty (Ea)	Total	Unit Price	Qty (Ea)	Total
⊢														
1	Belair Road Supply Co., Inc.	Baltimore, MD 21237	\$95.00	20	\$1,900.00	\$95.00	20	\$1,900.00	\$130.00	20	\$2,600.00	\$163.00	10	\$1,630.00
2	Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$105.26	20	\$2,105.20	\$105.26	20	\$2,105.20	\$142.11	20	\$2,842.20	\$184.21	10	\$1,842.10
3	Hajoca Corporation	Richmond, VA 23224	\$106.38	20	\$2,127.60	\$106.38	20	\$2,127.60	\$143.62	20	\$2,872.40	\$186.17	10	\$1,861.70
4	Lane Enterprises, Inc.	Bealeton, VA 22712	\$110.00	20	\$2,200.00	\$110.00	20	\$2,200.00	\$148.50	20	\$2,970.00	\$192.50	10	\$1,925.00
5	HD Supply	Waldorf, MD 20601	Did Not Bid On All Items											

В	ID TABULATION (Continued)															
Γ			IV. Flanged End Sections (continued)													
ŀ		1	16 Ga	uge Al	luminized S	teel (Type 2	2) Corr	ugated Pipe	e Flanged Er	nd Sec	tions					
ı	Bidder	Location	9	9"x14"		1	3"x 17	π .	1	5"x 21	n					
ı	5.020 .			Est.			Est.			Est.						
			Unit Price	Qty (Ea)	Total	Unit Price	Qty (Ea)	Total	Unit Price	Qty (Ea)	Total					
1	Belair Road Supply Co., Inc.	Baltimore, MD 21237	\$105.00	20	\$2,100.00	\$127.00	10	\$1,270.00	\$145.00	10	\$1,450.00					
2	Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$99.54	20	\$1,990.80	\$121.42	10	\$1,214.20	\$138.74	10	\$1,387.40					
3	Hajoca Corporation	Richmond, VA 23224	\$100.60	20	\$2,012.00	\$122.71	10	\$1,227.10	\$140.21	10	\$1,402.10					
4	Lane Enterprises, Inc.	Bealeton, VA 22712	\$104.00	20	\$2,080.00	\$126.88	10	\$1,268.80	\$144.98	10	\$1 <u>,44</u> 9.80					
5	HD Supply	Waldorf, MD 20601				Did Not E	Bid on A	All Items								

Bì	ID TABULATION (Continued)		
	Bidder	Location	Total Bid (Based on Estimated Annual Quantities)
1	Belair Road Supply Co., Inc.	Waldorf, MD 20695	\$38,782.65
2	Tri-Supply and Equipment, Inc.	New Castle, DE 19720	\$39,650.50
3	Hajoca Corporation	Richmond, VA 23224	\$40,072.60
4	Lane Enterprises, Inc.	Bealeton, VA 22712	\$41,431.70
5	HD Supply	Waldorf, MD 20601	Did Not Bid on All Items